

الف) $f(n) = n + [n]$ **(۱, ۵)**
 $y \in n + [n] \rightarrow n \leq y < [y] \rightarrow [y] = [y, [y]] \rightarrow [n] \leq [y]$

ب) $f^{-1}(u) \leq n - \frac{u}{p} \rightarrow n \leq n - \frac{u}{p}$ ۱
 $[y] \leq \frac{[n]}{p} \rightarrow n \leq y + \frac{[n]}{p}$
 $y \leq n - \frac{[n]}{p} \rightarrow f^{-1}(u) \leq n - \frac{[n]}{p}$
 $[u] \leq [n] - \frac{[n]}{p} \rightarrow \frac{p}{p} [u] \leq [u] \rightarrow [u] \leq [u] \rightarrow \dots$ **✓**
 به عبارت دیگر: $n - \frac{u}{p}$ غرض از این روش و جواب می باشد

ج) $f(n) \leq f^{-1}(u) \rightarrow f^{-1}(u) \leq f^{-1}(u) \leq n \rightarrow f^{-1}(u) \leq n$ **(۲)**
 $f(n) \leq f^{-1}(u) \rightarrow f^{-1}(u) \leq f^{-1}(u) \leq n \rightarrow f^{-1}(u) \leq n$ ۲

$f^{-1}(u) \leq \frac{-(m+p)n+p}{n-m} \leq \frac{m+p}{n+(m+p)} \rightarrow (-(m+p)n+p)^p - (m+p)^p n \rightarrow$ **(۲)**
 $p(m+p) \leq mn^p + n^p - mn^p - p^p n \rightarrow -mn^p - p^p n + p^p n - m^p n - 4mn - 4n + p^p m + 4 \leq mn^p + p^p n - mn^p - p^p m$ ۳
 $\rightarrow -p^p n - p^p n - 4mn - 4mn + p^p m + 4p^p m \rightarrow -(p+m)^p - (4+4m)n + 4p^p m + 4 \rightarrow$
 $\frac{1}{a} + \frac{1}{b} = \frac{5}{p} = \frac{4+4m}{-(m+p)} = \frac{4+4m}{-(m+p)} \neq 1$ **✓**

$f(n) \leq |n+a| - |an-v|$ **(۲)**
 $n \leq -y, v \rightarrow y \leq v-n \rightarrow y \leq \frac{v-n}{p} \rightarrow f^{-1}(u) \leq \frac{v-n}{p}$ ۴
 $D_f^{-1} \leq R_f \leq \mathbb{R} \leq \left(\infty, \frac{199}{\omega} \right]$ **✓**

$g(n) \leq k \rightarrow f^{-1}(k) \leq k \rightarrow f^{-1}\left(\frac{k+1}{p}\right) \leq n \rightarrow n \leq \frac{f^{-1}\left(\frac{k+1}{p}\right)}{p} \leq g^{-1}(u)$ **(۲)**
 $g^{-1}(k) \leq \frac{1}{p} f^{-1}\left(\frac{k+1}{p}\right) \rightarrow a \leq \frac{1}{p}$ ۵
 $\rightarrow b \leq 1$
 $\rightarrow c \leq p$
 $\rightarrow d \leq 1$
 $\frac{a+d}{rb} \leq \frac{p}{p} \leq 1 \leq \frac{1}{p}$ **✓**

$$f(u) = n + \sqrt{u} \rightarrow (\sqrt{u+1})^p - 1 \Rightarrow (\sqrt{u+1})^p y + 1 \rightarrow \sqrt{u+1} + \sqrt{y+1} - 1$$

$\sqrt{u+1} \rightarrow 1 + \frac{1}{2} \rightarrow u \gg 0, y \gg 0$ $\propto \sqrt{u+1}$ $\propto \sqrt{y+1}$

$$f(u) = (\sqrt{y+1} - 1)^p \rightarrow y = (\sqrt{u+1} - 1)^p \rightarrow f^{-1}(u) = (\sqrt{u+1} - 1)^p$$

$Df = Rf^{-1} = [0, +\infty)$
 $Rf = Df^{-1} = [0, +\infty)$

$$y = n - 1 + r^n \rightarrow \text{...} \rightarrow n = n - 1 + r^n$$

$1 \leq r^n$
 $\begin{cases} n \geq 0 \\ y \geq 0 \end{cases} \rightarrow \text{...}$

$$f(u) = n + u^p \rightarrow \text{...}$$

$$y = \sqrt{f^{-1}(u) - n} \rightarrow f^{-1}(u) \gg n \rightarrow n \gg f(u) \rightarrow n, n^p + \frac{p}{n}$$

$n^p + \frac{p}{n} \leq 0$
 $n(n^p + \frac{p}{n}) \leq 0$
 $n^p + \frac{p}{n} \leq 0$

$$n = y + \sqrt{y+1} \rightarrow n + y = \sqrt{y+1} \rightarrow (ny)^p = y + 1 \rightarrow n^p y^p + ny - y - 1 = 0$$

$$y + (n-1)y + (n^p - 1) = 0 \rightarrow y = \frac{-(n-1) \pm \sqrt{(n-1)^2 - 4(n^p - 1)}}{2} \rightarrow \epsilon n^p - \epsilon n + 1 - \epsilon n^p + 4 = 10 - \epsilon n$$

$$y = \frac{n + 1 \pm \sqrt{10 - \epsilon n}}{2} \rightarrow y = \frac{n + \sqrt{10 - \epsilon n}}{2}$$

$$g(u) = \frac{-r(n+\epsilon) + 1 + \sqrt{10 - \epsilon(n+\epsilon)}}{2} \rightarrow \frac{-r\alpha(u) + \sqrt{10 - \epsilon u}}{2} \Rightarrow n - r \rightarrow \text{...}$$

$$f(u) = \sqrt{u+1} \rightarrow \sqrt{y+1} \rightarrow f(u) = f^{-1}(u) \rightarrow Df = [0, \infty], Rf = [0, \infty]$$

$$f \circ f(u) = f \circ f^{-1}(u) = u \rightarrow Df = Rf = [0, \infty]$$

